

TABLE C-1 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING BY

BY RANK									
Field of Book M.B. Tooliston				Residents				Fellows	Total
Field of Post-M.D. Training	PGY-2	PGY-3	PGY-4	PGY-5	PGY-6	PGY-7	Subtotal	Fellow	
Family Medicine	132						132		132
Emergency Medicine (CFPC)		16					16		16
Care of the Elderly (CFPC)		3					3		3
Enhanced Skills: Other Fam. Med. Training		12					12		12
FAMILY MEDICINE SUBTOTAL	132	31					163		163
Anesthesiology				6			6	3	ç
Public Health and Preventive Medicine			1	2			3		3
Dermatology				2			2		2
Diagnostic Radiology				5			5	3	8
Neuroradiology						2	2		2
Emergency Medicine (Royal College)			1	7			8		8
Critical Care (Emergency Med.)						1	1		1
Pediatric Emergency Medicine				1			1		1
Cardiology (Int.Med.)					2		2	3	5
Critical Care (Int.Med)			1	2		3	6	1	7
Endocrinology and Metabolism (Int.Med.)			1	2	1		4	1	5
Gastroenterology (Int.Med.)				3			3	5	8
General Internal Medicine			3	9			12		12
Geriatric Medicine (Int.Med.)					1		1	1	2
Hematology (Int.Med.)				1			1		1
Infectious Diseases (Int.Med.)				4			4		4
Medical Oncology (Int.Med.)			2	1			3		3
Nephrology (Int.Med.)				1			1		1
Respirology (Int.Med.)				3			3	1	4
Rheumatology (Int.Med.)				3			3		3
Neurology				1			1	8	9
Neurology (Pediatrics)				2			2		2
Palliative Medicine		1	1				2	1	3
Pediatrics			7				7	1	8
Cardiology (Ped.)								1	1
Critical Care (Ped.)								1	1
Endocrinology and Metabolism (Ped.)				1	2		3		3
Gastroenterology (Ped.)								1	1
Developmental Pediatrics (Ped.)					2		2		2
Pediatric Emergency Medicine (Ped.)				1	2		3		3



TABLE C-1 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Boot M.D. Troining			ļ	Residents				Fellows	Total
Field of Post-M.D. Training	PGY-2	PGY-3	PGY-4	PGY-5	PGY-6	PGY-7	Subtotal	Fellow	
Infectious Diseases (Ped.)					1		1	2	3
Neonatal-Perinatal Medicine (Ped.)					1	1	2		2
Respirology (Ped.)				1			1		1
Physical Medicine and Rehabilitation				4			4		4
Psychiatry			3	12			15		15
Child and Adolescent Psychiatry					1		1		1
Radiation Oncology				2			2	2	4
MEDICAL SPECIALTIES SUBTOTAL		1	20	76	13	7	117	35	152
Anatomical Pathology				2			2	1	3
Hematological Pathology			1				1	1	2
Medical Microbiology				2			2		2
LAB MEDICINE SPECIALTIES SUBTOTAL			1	4			5	2	7
General Surgery				2			2	6	8
Colorectal Surgery						1	1		1
Critical Care (General Surgery)						1	1		1
General Surgical Oncology						2	2		2
Pediatric Surgery					1		1		1
Thoracic Surgery						1	1		1
Neurosurgery			1		1		2	1	3
Obstetrics/Gynecology				9			9	2	11
Gynecologic Oncology						1	1		1
Maternal-Fetal Medicine						1	1	1	2
Ophthalmology				2			2		2
Otolaryngology - Head and Neck Surgery				1			1	1	2
Orthopedic Surgery				4			4	4	8
Plastic Surgery				3			3	1	4
Urology				1			1		1
SURGICAL SPECIALTIES SUBTOTAL			1	22	2	7	32	16	48
Total	132	32	22	102	15	14	317	53	370



TABLE C-2 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING BY GENDER

Field of Boot M.D. Tanining	Fem	nale	Ma	ile	Total	
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %
Family Medicine	71	53.8%	61	46.2%	132	100.0%
Emergency Medicine (CFPC)	7	43.8%	9	56.3%	16	100.0%
Care of the Elderly (CFPC)	2	66.7%	1	33.3%	3	100.0%
Enhanced Skills: Other Fam. Med. Training	9	75.0%	3	25.0%	12	100.0%
FAMILY MEDICINE SUBTOTAL	89	54.6%	74	45.4%	163	100.0%
Anesthesiology	4	44.4%	5	55.6%	9	100.0%
Public Health and Preventive Medicine	2	66.7%	1	33.3%	3	100.0%
Dermatology	1	50.0%	1	50.0%	2	100.0%
Diagnostic Radiology	2	25.0%	6	75.0%	8	100.0%
Neuroradiology			2	100.0%	2	100.0%
Emergency Medicine (Royal College)	3	37.5%	5	62.5%	8	100.0%
Critical Care (Emergency Med.)			1	100.0%	1	100.0%
Pediatric Emergency Medicine	1	100.0%			1	100.0%
Cardiology (Int.Med.)	2	40.0%	3	60.0%	5	100.0%
Critical Care (Int.Med)	3	42.9%	4	57.1%	7	100.0%
Endocrinology and Metabolism (Int.Med.)	4	80.0%	1	20.0%	5	100.0%
Gastroenterology (Int.Med.)	4	50.0%	4	50.0%	8	100.0%
General Internal Medicine	6	50.0%	6	50.0%	12	100.0%
Geriatric Medicine (Int.Med.)	2	100.0%			2	100.0%
Hematology (Int.Med.)			1	100.0%	1	100.0%
Infectious Diseases (Int.Med.)	1	25.0%	3	75.0%	4	100.0%
Medical Oncology (Int.Med.)	2	66.7%	1	33.3%	3	100.0%
Nephrology (Int.Med.)			1	100.0%	1	100.0%
Respirology (Int.Med.)	1	25.0%	3	75.0%	4	100.0%
Rheumatology (Int.Med.)	2	66.7%	1	33.3%	3	100.0%
Neurology	4	44.4%	5	55.6%	9	100.0%
Neurology (Pediatrics)	2	100.0%			2	100.0%



TABLE C-2 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING BY GENDER

F111 (D (MD T))	Fen	nale	Ma	ale	To	tal
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %
Palliative Medicine	3	100.0%			3	100.0%
Pediatrics	7	87.5%	1	12.5%	8	100.0%
Cardiology (Ped.)	1	100.0%			1	100.0%
Critical Care (Ped.)	1	100.0%			1	100.0%
Endocrinology and Metabolism (Ped.)	2	66.7%	1	33.3%	3	100.0%
Gastroenterology (Ped.)			1	100.0%	1	100.0%
Developmental Pediatrics (Ped.)	2	100.0%			2	100.0%
Pediatric Emergency Medicine (Ped.)	2	66.7%	1	33.3%	3	100.0%
Infectious Diseases (Ped.)	3	100.0%			3	100.0%
Neonatal-Perinatal Medicine (Ped.)	1	50.0%	1	50.0%	2	100.0%
Respirology (Ped.)			1	100.0%	1	100.0%
Physical Medicine and Rehabilitation	1	25.0%	3	75.0%	4	100.0%
Psychiatry	9	60.0%	6	40.0%	15	100.0%
Child and Adolescent Psychiatry			1	100.0%	1	100.0%
Radiation Oncology	1	25.0%	3	75.0%	4	100.0%
MEDICAL SPECIALTIES SUBTOTAL	79	52.0%	73	48.0%	152	100.0%
Anatomical Pathology	1	33.3%	2	66.7%	3	100.0%
Hematological Pathology	1	50.0%	1	50.0%	2	100.0%
Medical Microbiology			2	100.0%	2	100.0%
LAB MEDICINE SPECIALTIES SUBTOTAL	2	28.6%	5	71.4%	7	100.0%
General Surgery	3	37.5%	5	62.5%	8	100.0%
Colorectal Surgery			1	100.0%	1	100.0%
Critical Care (General Surgery)			1	100.0%	1	100.0%
General Surgical Oncology			2	100.0%	2	100.0%
Pediatric Surgery	1	100.0%			1	100.0%
Thoracic Surgery			1	100.0%	1	100.0%
Neurosurgery			3	100.0%	3	100.0%



TABLE C-2 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY GENDER

Field of Poot M.D. Training	Fen	nale	Male		Total	
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %
Obstetrics/Gynecology	10	90.9%	1	9.1%	11	100.0%
Gynecologic Oncology	1	100.0%			1	100.0%
Maternal-Fetal Medicine	2	100.0%			2	100.0%
Ophthalmology	1	50.0%	1	50.0%	2	100.0%
Otolaryngology - Head and Neck Surgery	1	50.0%	1	50.0%	2	100.0%
Orthopedic Surgery	2	25.0%	6	75.0%	8	100.0%
Plastic Surgery	2	50.0%	2	50.0%	4	100.0%
Urology			1	100.0%	1	100.0%
SURGICAL SPECIALTIES SUBTOTAL	23	47.9%	25	52.1%	48	100.0%
Total	193	52.2%	177	47.8%	370	100.0%



TABLE C-3 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2015)

OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Boot M.D. Training	New I	Entry	Re-e	ntry	Total	
Field of Post-M.D. Training	Count	Col %	Count	Col %	Count	Col %
Family Medicine	132	37.3%			132	35.7%
Emergency Medicine (CFPC)	15	4.2%	1	6.3%	16	4.3%
Care of the Elderly (CFPC)	3	0.8%			3	0.8%
Enhanced Skills: Other Fam. Med. Training	11	3.1%	1	6.3%	12	3.2%
FAMILY MEDICINE SUBTOTAL	161	45.5%	2	12.5%	163	44.1%
Anesthesiology	9	2.5%			9	2.4%
Public Health and Preventive Medicine	2	0.6%	1	6.3%	3	0.8%
Dermatology	2	0.6%			2	0.5%
Diagnostic Radiology	5	1.4%	3	18.8%	8	2.2%
Neuroradiology	2	0.6%			2	0.5%
Emergency Medicine (Royal College)	8	2.3%			8	2.2%
Critical Care (Emergency Med.)	1	0.3%			1	0.3%
Pediatric Emergency Medicine	1	0.3%			1	0.3%
Cardiology (Int.Med.)	5	1.4%			5	1.4%
Critical Care (Int.Med)	7	2.0%			7	1.9%
Endocrinology and Metabolism (Int.Med.)	4	1.1%	1	6.3%	5	1.4%
Gastroenterology (Int.Med.)	7	2.0%	1	6.3%	8	2.2%
General Internal Medicine	12	3.4%			12	3.2%
Geriatric Medicine (Int.Med.)	2	0.6%			2	0.5%
Hematology (Int.Med.)	1	0.3%			1	0.3%
Infectious Diseases (Int.Med.)	4	1.1%			4	1.1%
Medical Oncology (Int.Med.)	3	0.8%			3	0.8%
Nephrology (Int.Med.)	1	0.3%			1	0.3%
Respirology (Int.Med.)	4	1.1%			4	1.1%
Rheumatology (Int.Med.)	3	0.8%			3	0.8%
Neurology	9	2.5%			9	2.4%
Neurology (Pediatrics)	1	0.3%	1	6.3%	2	0.5%
Palliative Medicine			3	18.8%	3	0.8%



POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2015) OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Poot M.D. Tanining	New	Entry	Re-e	entry	Tot	al
Field of Post-M.D. Training	Count	Col %	Count	Col %	Count	Col %
Pediatrics	8	2.3%			8	2.2%
Cardiology (Ped.)	1	0.3%			1	0.3%
Critical Care (Ped.)	1	0.3%			1	0.3%
Endocrinology and Metabolism (Ped.)	3	0.8%			3	0.8%
Gastroenterology (Ped.)	1	0.3%			1	0.3%
Developmental Pediatrics (Ped.)	1	0.3%	1	6.3%	2	0.5%
Pediatric Emergency Medicine (Ped.)	3	0.8%			3	0.8%
Infectious Diseases (Ped.)	3	0.8%			3	0.8%
Neonatal-Perinatal Medicine (Ped.)	2	0.6%			2	0.5%
Respirology (Ped.)	1	0.3%			1	0.3%
Physical Medicine and Rehabilitation	4	1.1%			4	1.1%
Psychiatry	15	4.2%			15	4.1%
Child and Adolescent Psychiatry	1	0.3%			1	0.3%
Radiation Oncology	4	1.1%			4	1.1%
MEDICAL SPECIALTIES SUBTOTAL	141	39.8%	11	68.8%	152	41.1%
Anatomical Pathology	2	0.6%	1	6.3%	3	0.8%
Hematological Pathology	1	0.3%	1	6.3%	2	0.5%
Medical Microbiology	2	0.6%			2	0.5%
LAB MEDICINE SPECIALTIES SUBTOTAL	5	1.4%	2	12.5%	7	1.9%
General Surgery	8	2.3%			8	2.2%
Colorectal Surgery	1	0.3%			1	0.3%
Critical Care (General Surgery)	1	0.3%			1	0.3%
General Surgical Oncology	2	0.6%			2	0.5%
Pediatric Surgery	1	0.3%			1	0.3%
Thoracic Surgery	1	0.3%			1	0.3%
Neurosurgery	3	0.8%			3	0.8%
Obstetrics/Gynecology	10	2.8%	1	6.3%	11	3.0%
Gynecologic Oncology	1	0.3%			1	0.3%



TABLE C-3 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2015) OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Doct M.D. Training	New	Entry	Re-entry		Total	
Field of Post-M.D. Training	Count	Col %	Count	Col %	Count	Col %
Maternal-Fetal Medicine	2	0.6%			2	0.5%
Ophthalmology	2	0.6%			2	0.5%
Otolaryngology - Head and Neck Surgery	2	0.6%			2	0.5%
Orthopedic Surgery	8	2.3%			8	2.2%
Plastic Surgery	4	1.1%			4	1.1%
Urology	1	0.3%			1	0.3%
SURGICAL SPECIALTIES SUBTOTAL	47	13.3%	1	6.3%	48	13.0%
Total	354	100.0%	16	100.0%	370	100.0%

^{*} New Entry - trainees assumed to be entering practice for the first time Re-entry - trainees assumed to be re-entering practice



TABLE C-4 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Committee		Legal Status	
M.D. Country	CC/PR*	Visa	Total
Australia	1	2	3
Bonaire	1		1
Bosnia-Herzegovina	1		1
Brazil		1	1
Bulgaria	1		1
Chile	1		1
China	2	1	3
Colombia	1		1
Dominica	1		1
Egypt	5	1	6
Finland		1	1
Germany		1	1
Grenada	2		2
Hungary		1	1
India	4	13	17
Iran	4		4
Iraq	1		1
Ireland	5	4	9
Israel		1	1



TABLE C-4 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Committee		Legal Status	
M.D. Country	CC/PR*	Visa	Total
Japan		2	2
Kenya		1	1
Libya	2	1	3
Lithuania	1		1
Mexico		1	1
Morocco	1		1
New Zealand		2	2
Nigeria	2	1	3
Norway		1	1
Pakistan	5		5
Poland	1		1
Romania	4		4
Russia	2		2
Saudi Arabia		13	13
Serbia and Montenegro	1		1
Seychelles		1	1
Singapore		1	1
Slovakia	1		1
South Africa	5	2	7



TABLE C-4 POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Country	Legal Status						
M.D. Country	CC/PR*	Visa	Total				
Spain	1		1				
Syrian Arab Republic		1	1				
United Kingdom	2	9	11				
United States of America	3		3				
Uruguay	1		1				
Venezuela	2		2				
Total	64	62	126				

CC/PR: Canadian Citizens and Permanent Residents



TABLE C-4A POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

		Legal Status	
Field of Post-M.D. Training	CC/PR*	Visa	Total
Family Medicine	17		17
Emergency Medicine (CFPC)	1		1
Enhanced Skills: Other Fam. Med. Training	3		3
FAMILY MEDICINE SUBTOTAL	21		21
Anesthesiology	2	2	4
Dermatology		1	1
Diagnostic Radiology	2	8	10
Pediatric Radiology	1		1
Emergency Medicine (Royal College)	1		1
Internal Medicine	1		1
Cardiology (Int.Med.)	2	9	11
Critical Care (Int.Med)	2		2
Endocrinology and Metabolism (Int.Med.)		1	1
Gastroenterology (Int.Med.)	1	5	6
General Internal Medicine	2		2
Geriatric Medicine (Int.Med.)	2		2
Hematology (Int.Med.)	1		1
Infectious Diseases (Int.Med.)	1		1
Medical Oncology (Int.Med.)	3	1	4
Nephrology (Int.Med.)	1	2	3



TABLE C-4A POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

Field of Post-M.D. Training	Legal Status					
	CC/PR*	Visa	Total			
Rheumatology (Int.Med.)	2		2			
Neurology	2	4	6			
Pediatrics	4		4			
Pediatric Emergency Medicine (Ped.)	1		1			
Hematology/Oncology (Ped.)		1	1			
Neonatal-Perinatal Medicine (Ped.)		5	5			
Nephrology (Ped.)		2	2			
Respirology (Ped.)		1	1			
Psychiatry	1		1			
Child and Adolescent Psychiatry	1		1			
Radiation Oncology	1		1			
MEDICAL SPECIALTIES SUBTOTAL	34	42	76			
Anatomical Pathology	2		2			
General Pathology	1		1			
Medical Microbiology	1		1			
LAB MEDICINE SPECIALTIES SUBTOTAL	4		4			
Cardiac Surgery		4	4			
General Surgery	1		1			
General Surgical Oncology		1	1			
Neurosurgery		5	5			



TABLE C-4A POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

Field of Post-M.D. Training	Legal Status				
	CC/PR*	Visa	Total		
Obstetrics/Gynecology	3		3		
Gynecologic Oncology		1	1		
Otolaryngology - Head and Neck Surgery		2	2		
Orthopedic Surgery	1	7	8		
SURGICAL SPECIALTIES SUBTOTAL	5	20	25		
Total	64	62	126		

CC/PR: Canadian Citizens and Permanent Residents



POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING

(CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training	Residents		Fellows		Total	
	Count	Row %	Count	Row %	Count	Row %
Family Medicine	148	99.3%	1	0.7%	149	100.0%
Emergency Medicine (CFPC)	17	100.0%			17	100.0%
Care of the Elderly (CFPC)	3	100.0%			3	100.0%
Enhanced Skills: Other Fam. Med. Training	15	100.0%			15	100.0%
FAMILY MEDICINE SUBTOTAL	183	99.5%	1	0.5%	184	100.0%
Anesthesiology	8	72.7%	3	27.3%	11	100.0%
Public Health and Preventive Medicine	3	100.0%			3	100.0%
Dermatology	2	100.0%			2	100.0%
Diagnostic Radiology	5	50.0%	5	50.0%	10	100.0%
Neuroradiology	2	100.0%			2	100.0%
Pediatric Radiology	1	100.0%			1	100.0%
Emergency Medicine (Royal College)	9	100.0%			9	100.0%
Critical Care (Emergency Med.)	1	100.0%			1	100.0%
Pediatric Emergency Medicine	1	100.0%			1	100.0%
Internal Medicine	1	100.0%			1	100.0%
Cardiology (Int.Med.)	2	28.6%	5	71.4%	7	100.0%
Critical Care (Int.Med)	7	77.8%	2	22.2%	9	100.0%
Endocrinology and Metabolism (Int.Med.)	4	80.0%	1	20.0%	5	100.0%
Gastroenterology (Int.Med.)	4	44.4%	5	55.6%	9	100.0%
General Internal Medicine	14	100.0%			14	100.0%
Geriatric Medicine (Int.Med.)	3	75.0%	1	25.0%	4	100.0%
Hematology (Int.Med.)	2	100.0%			2	100.0%
Infectious Diseases (Int.Med.)	5	100.0%			5	100.0%
Medical Oncology (Int.Med.)	5	83.3%	1	16.7%	6	100.0%
Nephrology (Int.Med.)	1	50.0%	1	50.0%	2	100.0%
Respirology (Int.Med.)	3	75.0%	1	25.0%	4	100.0%
Rheumatology (Int.Med.)	5	100.0%			5	100.0%
Neurology	1	9.1%	10	90.9%	11	100.0%



POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING

(CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training	Residents		Fellows		Total	
	Count	Row %	Count	Row %	Count	Row %
Neurology (Pediatrics)	2	100.0%			2	100.0%
Palliative Medicine	2	66.7%	1	33.3%	3	100.0%
Pediatrics	11	91.7%	1	8.3%	12	100.0%
Cardiology (Ped.)			1	100.0%	1	100.0%
Critical Care (Ped.)			1	100.0%	1	100.0%
Endocrinology and Metabolism (Ped.)	3	100.0%			3	100.0%
Gastroenterology (Ped.)			1	100.0%	1	100.0%
Developmental Pediatrics (Ped.)	2	100.0%			2	100.0%
Pediatric Emergency Medicine (Ped.)	4	100.0%			4	100.0%
Infectious Diseases (Ped.)	1	33.3%	2	66.7%	3	100.0%
Neonatal-Perinatal Medicine (Ped.)	2	100.0%			2	100.0%
Respirology (Ped.)	1	100.0%			1	100.0%
Physical Medicine and Rehabilitation	4	100.0%			4	100.0%
Psychiatry	16	100.0%			16	100.0%
Child and Adolescent Psychiatry	2	100.0%			2	100.0%
Radiation Oncology	2	40.0%	3	60.0%	5	100.0%
MEDICAL SPECIALTIES SUBTOTAL	141	75.8%	45	24.2%	186	100.0%
Anatomical Pathology	3	60.0%	2	40.0%	5	100.0%
General Pathology			1	100.0%	1	100.0%
Hematological Pathology	1	50.0%	1	50.0%	2	100.0%
Medical Microbiology	3	100.0%			3	100.0%
LAB MEDICINE SPECIALTIES SUBTOTAL	7	63.6%	4	36.4%	11	100.0%
General Surgery	3	33.3%	6	66.7%	9	100.0%
Colorectal Surgery	1	100.0%			1	100.0%
Critical Care (General Surgery)	1	100.0%			1	100.0%
General Surgical Oncology	2	100.0%			2	100.0%
Pediatric Surgery	1	100.0%			1	100.0%
Thoracic Surgery	1	100.0%			1	100.0%



POST-M.D. TRAINEES EXITING ALBERTA TRAINING PROGRAMS IN JULY, 2016 AT THE COMPLETION OF POST-M.D. TRAINING

(CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED) FIELD OF POST-M.D. TRAINING

BY RANK

Field of Post-M.D. Training	Residents		Fellows		Total	
	Count	Row %	Count	Row %	Count	Row %
Neurosurgery	2	66.7%	1	33.3%	3	100.0%
Obstetrics/Gynecology	11	78.6%	3	21.4%	14	100.0%
Gynecologic Oncology	1	100.0%			1	100.0%
Maternal-Fetal Medicine	1	50.0%	1	50.0%	2	100.0%
Ophthalmology	2	100.0%			2	100.0%
Otolaryngology - Head and Neck Surgery	1	50.0%	1	50.0%	2	100.0%
Orthopedic Surgery	4	44.4%	5	55.6%	9	100.0%
Plastic Surgery	3	75.0%	1	25.0%	4	100.0%
Urology	1	100.0%			1	100.0%
SURGICAL SPECIALTIES SUBTOTAL	35	66.0%	18	34.0%	53	100.0%
Total	366	84.3%	68	15.7%	434	100.0%